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FINAL ANSWER KEY

Paper: 077 - Weights and Measures Act and Rules Legal Metrology
Date of Test 07-11-2024
Question1:-Which of the following Act/Rules came in to force on 01/04/2011 except?
®269aj0QMARI@ age®om adles 01/04/2011 go@ @osnalomicd amo?
A:-The Legal Metrology Act
el eacsoss mlone
B:-The Legal Metrology (Packaged Commodities) Rules
el eacsoss (anesmeions eemousiglay) mlonsmwd
C:-The Kerala Legal Metrology (Enforcement) Rules
eoeg eln@ enesogs (agmennosaminamd) mlonsnud
D:-All of these
DAIOWELJ00
Correct Answer:- Option-C
Question2:-As per section 2 of 2009 Act "protection” means the utilization of reading obtained from any weight of measure, for the purpose of
determining any step which is required to be taken to safeguard the wellbeing of any
2009 eo@lec MBHUMB 2 (@00 " TVeEEHEM." aglMIT, MISPSaOQYIMMAIQESS EAHA MeEdHled MVIBEIEEM aB® MSalSlge MBERIEM@IM, oy @osallej o aidy
QUOMWYSS @n](:G))I)U’)Q!OGTT)u
A:-Human being
DU
B:-Animal
[L]ON
C:-Vegetation
OTLYEBRUZ
D:-All of these
fasloTolw=Tiels
Correct Answer:- Option-D
Question3:-Which of the following does not comes under the definition of "premises"?
DMlajoQMAIRIEE ag@moeny " aidlmuee” aganaicdec mlidaiamoniad aroom@?
A:-A vegetable shop in the market
20d€pdlonl B® algddl &S
B:-A godown where a large number of packages were stored
WIRIBe aldBEBDMUY Mysdlsficlenim e eunoeaLDed
C:-An office where accounts and documents of any trade are kept
ROOBIje QAUYPLEATIMEO GBS CEAIBEe MR HG Boadmy
D:-None of these
OO0 TR
Correct Answer:- Option-D
Question4:-"Weight or measure" includes
" 200 @egIEITd @Rgal" DUBeAgIMNDY
A:-A 10 kg iron weight
10 ®leen @Ml @eo
B:-2 kg digital working standard balance
2 sleen Awlelgod aidesiluy quomdeanda snioaimdmy
C:-5 litre conical measure
5 allgd esosmogaiaiges @gal
D:-All of these
DAUOWEJI0
Correct Answer:- Option-D
Question5:-No person shall, in relation to any goods, things or service, quote or make announcement of, whether by word of mouth or otherwise,
any price or charge, otherwise than in accordance with the standard unit of weight, measure or numeration. The compounding fee prescribed for
violation of this is
B QAUBOIQ0, ROMEIBje MVIWMEBRUB, mn’g:ﬁsuﬁ @REYDIT GTVAIMo af MRV NITMWES, IERIFIWICWI 2EQY, aie®Blej Alleicwd MEEEH:, B, @SN EPERIBIT3 MV6I
agilaQes quomeawdi’ @iy @rmMElal @RgIem, DELEIER®EWI el lERe:6@o £2Q®O. DY alocefl gy dluauel sfldlesam eooaminendloy adlmy
A:-Rs. 1,000
1,000 @
B:-Rs. 2,000
2,000 @
C:-Rs. 5,000
5,000 @
D:-Rs. 10,000
10,000 @n
Correct Answer:- Option-B
Question6:-The controller of Legal Metrology and Inspector of Legal Metrology are appointed under of Legal Metrology Act 2009.
el eaesogeEles @mesogeoq. aln eacsogel LMBeMYGEOY. dlwdaldama alna sassogsdl @rg 2009-meo (@006,
A:-Section 14(1)
equesm 14(1)
B:-Section 13(1)
emuaumd 13(1)
C:-Section 16(1)
equesm 16(1)
D:-Section 18(1)
emuaumd 18(1)
Correct Answer:- Option-A
Question7:-No declaration as to the month and year in which the commodity is manufactured or
pre-packaged shall be required to be made on the following packages except
@OPAOQRM AlICLHBDAE® a¥lo® ales MdlEBmMEmd YMBES] alNEHBOAYPE®O @RV AIMIQY AUBAUNYe MVENITUWla] BT (JEUPAIMOY MSEOMERTIG).
A:-Bidis
snflaulleud
B:-LPG cylinder of 12 kg
12 sleenqes ag@dals] milelord
C:-Incense sticks
QaldPo
D:-LPG cylinder of 5 kg
5 Blecioqes ag@alel milelend
Correct Answer:- Option-B
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Question8:-Which of the following is correct?
DMlojoQMAIRIEE agmosn wdl?
A:-No repair license shall be required by a manufacturer for repair of his own weight or measure in a state other than the state of manufacture
of the same
6@ @ldezo@aalla quIm. @EE20 @RSEN @R MIdazla) MVMLAIMETTILIO® AF MVLMAIMEIE MMILBM@IM Cloj@d eerIMMMY @RI
B:-A valid repair license shall be required by a dealer of weight or measure for repair of any weight or measure
ABOOEIaj @IECAI @RSENI MIMILBMMIM BTG MWD Claj@d EERITLMM @Ie. @ReLIEITE EREAT (WlaIdLs ERIUBKAEM
C:-During inspection if it is found that may weight or measure does not conform to the standards established by or under the Act 2009, the
LMO shall obliterate the stamp on it
aidlevowmgies, 2009 @@ @00 Mu0dallallges BOMEMULERBEIYORIW] TEHE2I ERSEAI PDRIGND WORIM BT, LMO eeciwdeo qyoml eepmodss.
D:-All of these
OAOWEIOe
Correct Answer:- Option-D
Question9:-Which of the following is to be verified and stamped before put it into use?
®069aJ0QINAIVIEB BN DalB@IUTlEBIM@INY oI al@l8uedUla] QYOMT 6a16QENR®?
A:-Taximeter
sogglalod
B:-Thermometer
o®dc20dgd
C:-Sphygmomanometer
aleuaomocmodigd
D:-All of these
DWW
Correct Answer:- Option-D
Question10:-Penalty for use of non-standard weight or measure is given in which of the following section of the Act 2009?
dlainnedgoom @BEnend @PEEAI PalE@IUlaidd alle g @reg 20096a1 oaflajo@m «go’ emuesdlans madeloldlesmma?
A:-Section 25
emueum 25
B:-Section 26
emuaum 26
C:-Section 27
emueum 27
D:-Section 28
emuaum 28
Correct Answer:- Option-A
Question11:-Any company may, by order in writing, authorise any of its directors to exercise all such powers and take all steps as may be necessary
or expedient to prevent the commission by the company of any offence under the LM Act 2009. This is
LM erg 2009 @@00gss ago@®laje @go & &l 6.agme’ @s@maim’ @oaei2oemd 9almead Gr® agef Msalskege Mledemaim, congegss somealaes,
O HMUTIERo, ERODEe af)afd GoUlE0EERE. almlewouilemaln eralen WwoRdREIE EReEEEEIE) ERUIE:VEEFOIMIYM@IE.
A:-Section 49 of the Act 2009
@@ 2009-ae0 ecvenmd 49
B:-Section 45 of the Act 2009
@rg 2009-m00 ervenmd 45
C:-Section 47 of the Act 2009
@@ 2009-ae0 ecvenmd 47
D:-Section 43 of the Act 2009
arg 2009-me0 ervend 43
Correct Answer:- Option-A
Question12:-Section 38 of the Legal Metrology Act 2009 refers to non-registration of of weight or measure.
200960 elin@ eacsigsl Mloaowldeo 38-are equeum BHODB06WO @raalBenewo ElqRad eaITm@Iem ayalafesme.
A:-Manufacturer
aldemomonl
B:-importer
DOEBADI M
C:-Packer
aloEe @
D:-None of these
DO@IMo G
Correct Answer:- Option-B
Question13:-Which of the following section/sections refers to penalty for LMOs?
@lojomnaRlod agmosny LMO &:desgs allvow@ ayallajesmo?
A:-Section 42
emuaum 42
B:-Section 43
emusum 43
C:-Both (1) and (2)
(1) 0 (2) g0
D:-None of these
OG0 DGY
Correct Answer:- Option-C
Question14:-Which of the following is correctly matched?
Tlaj0QMAIRIEE ag@6nY VAW OAR@OMeFINT?
A:-shape of 500 mg reference standard weight  a. integral cylindrical body with knob

500 dlgflwe Oanomdmy’ quomenwdauy a. emoen) 988 @raleomy
0QElBe0 erei aleflened esniocusl

B:-shape of 1 mg working standard weight b. square sheet
1 diglwoe aideslouy quomdeawds’ b. ae «lg

6QHlBe0 @Rl
C:-shape of 200 mg secondary standard weight c. five segmented wire

200 dlgflwoe ervamened qyomdeanday C. @6 OIVUBUAMBOM A
0QGlBe0 ereI

D:-shape of 500 mg working standard weight d. one segmented wire
500 dlgflwoe deslowy quomderwd’ d. em emvewnmons aiad

0QWHlBe0 @Rl

Correct Answer:- Option-B
Question15:-The nominal value of standard weights for testing of high capacity weighing machines shall be
20AmM sles B VEERW aBlewwlsmMaings quomsadau’ s)m@“g&gos MIDDI@ gele DIVE|ERe

20f13 Friday 20 December 2024 03:24 PM



Home Page

30f13

A:-50 kg or in the form k x 10" ~n" where k equal to 1,2,5 and n is any positive or negative integer

http://192.168.1.6/dept/modules/marklist/answe...

50 &).woe @regEicd kK X 10° " n° @aoole, K agana 1,2,507 @eiqje N agm@y agemslaj eanmildlal @regi@ilod emuglal ajdepmusai@osny
B:-50 kg or in the form k x 10" ~n" where k equal to 1,2,5 and n is whole number equal to or greater 1
50 @l @woo @pegElcd k X 10°"N" @aooiad, K agana 1,2,50 @eiqe N agane 1oy @eiend @ooilod @smean @@ oGepmuea@oem

C:-50 kg or in the form k x 10" ~n" where k equal to 1,2,5 and n is equal to or greater 2
50 &).woe @regElcs kK X 10° "N @aoola, K agana 1,2,507 @eiqje N agmay 207 @elen0 @oaicd @smean @oeemescd
D:-None of these
SOOI @%g
Correct Answer:- Option-C
Question16:-The highest denomination of pouring type of liquid capacity measure is
Al&@M O BOAUBOTIMO0 cuont] @RSAIMO ofgale S@AM gele
A:-1 litre
1 eflgad
B:-2 litre
2 ellgd
C:-5 litre
5 eilgd
D:-None of these
OO0 G|
Correct Answer:- Option-B
Question17:-Calibration of vertical storage tank is performed by
6QIdsler®d 6qRocosd soElMe0 doaleEnaum msgomoy
A:-Strapping method
aoaflwy Al
B:-Internal measurement method
@RDEH CRSH@ @0
C:-Both (1) and (2)
(1) 2 (2) oo
D:-None of these
OOMIMe DG
Correct Answer:- Option-C
Question18:-The maximum permissible error for a 10 kg cast iron weight during verification is
quddleeem quamony 10 @leain @00y eaml @eamila @omaBT@loa® aleaoaiw] allus
A:-1500 mg
1500 dlgfigoo
B:-1000 mg
1000 dlgfigoo
C:-750 mg
750 dgjwoe
D:-500 mg
500 dlgfwoe
Correct Answer:- Option-A
Question19:-The "carat" weights are used for weighing
"#00g" BEHEERUB aBOO BEHOTIMIET DalcOUlERD
A:-Gold
auiBeRo
B:-Precious stones
alleicole @%@;0&
C:-Silver
oqigs]
D:-Perfumes
e)(ud}n.u&g@uﬂ
Correct Answer:- Option-B
Question20:-The verification scale interval of a non automatic weighing instrument shall be in the form
"nxx107~k" where
8@ 6MIM 3965920¢1ey HAWFlwY altesMmETIBen mudidleesm eyl oseag
"Nxx107°K’ agon @aioslenoldses.. males
A:-n =125
n=125
B:-k = positive or negative whole number
K = eandidlal aoegmlcd emuglal ajdey muesy

C:-k=0
k=0

D:-all of these
DO

Correct Answer:- Option-D
Question21:-The constant "k" of a taximeter can be
e sogladlgdladeo mudeom. "k" @RB00

A:-Impulse per indicated kilometer
Myaflaflg) B06E0 &lealndlgdltee goai@dmy

B:-Taxi fare prescribed for one kilometer distance
8@ #leaodlod geomlm mluaieiafdlesan sogl mless’

C:-Taxi fare prescribed for 1.5 kilometer
1.5 #leandlgdlay mlumiolsldesm sog) aloas

D:-None of these
OG0 0B

Correct Answer:- Option-A

Question22:-All of the following markings are to be made on the lead and wire sealing of a weighing machine except

69108 ©69aJOYM a0 ERS@ISERGe HADYY Hanlmlm eeiw, awd miefuwilcd paeocsmaremos.
A:-The emblem number assigned for the LMO
LMO mowl madelwligas agosple mmud
B:-Stamped quarter and year
TYIMT 621 B10B5Q0 AUBOYe
C:-Serial number of the weighing machine
Q) HRadIBe0 MICl@ Mmaud
D:-The letters "KL"
"KL" @oesioaBaud
Correct Answer:- Option-C
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Question23:-Every reference standard shall be verified and certified against
ag)gfd 0an0Mmy’ qRomecnday®go @ ag@100w] al@lewouslgon]EBe:Qle TIIBHOYFTDHEQo B.21Qo.
A:-Another reference standard
26Q0@ 0aNOMMY YIMEWA
B:-National standard
eaWlQ dileinnEe
C:-International prototype
«mnmo@amg G@OGgOQOSrﬂ
D:-None of these
OO0 DR
Correct Answer:- Option-B
Question24:-The officer who is in charge of a Govt. Approved Test Centre is
BB @RUIR® STY OTLVMOCIBEO YAEIYSS OCRLPUTVAMIETY
A:-Principal Officer
@JBrloy@d soadlrod
B:-Director
WORHA
C:-Deputy Director
emxuég’l WRORHA
D:-None of these
OO0 EDRY
Correct Answer:- Option-A
Question25:-"Creep test" can be performed for which of the following instrument?
DTlaj0QIMAIRIEE aB®Y DaldeemaDlay " @] ©sqy” msomo?
A:-Dispensing pump
awleomymales’ aiml
B:-Thermometer
o®dc20dgd
C:-Electronic weighing machine
R16HIEME OAIRSlw’ Oacllad
D:-Dipping measure
Wlaflotd ORcUB
Correct Answer:- Option-C
Question26:-The model approval mark assigned to a non-automatic weighing machine is IND/09/07/111 where 09 denotes
a@ eMmoen-6065020¢leY eaITfleul eamllid MRSIWlges 620w @BUllE:00 allams IND/09/07/111 @men, galles 09 myalqjesmm
A:-Code number assigned to the laboratory
2166n100501Es m(ni(ﬂﬂmﬂ%gg CHHOW MR
B:-Code number assigned to the model
caocwellay mmﬁa;lu:ﬂ%@g eBo0u Mm@
C:-Last two digits of the year of issue
Doty ©2IQ QBHODIOR! @RAIMVIM EENE @REEERU
D:-None of these
SOOI @%g
Correct Answer:- Option-C
Question27:-All the functions of an LMO in Kerala is based on which of the following Act/Rules?
eaogonioal 6@ LMO @es aggp qadommsmge emlajoqm «go) eog/dloaaseg erslruomaodsigesmosm?
A:-The Legal Metrology (Packaged Commodities) Rules 2011
el eacsoge (aneseion eemoasigiay) gudmy 2011
B:-The Kerala Legal Metrology (Enforcement) Rules 2012
edeg elna eacsosd (agmeanssmieams) Qudmy 2012
C:-The Legal Metrology Act 2009
el eacsoge] @og 2009
D:-The Legal Metrology (General) Rules 2011
el eacsogs (@mowd) qudmy 2011
Correct Answer:- Option-C
Question28:-An Offence under the Legal Metrology Act 2009 can be compounded only according to
el eacsogsl @rey 2009 @e00g88 8@ ®:go LOMIVEL] 20O @SB @iy
A:-Section 46
emusum 46
B:-Section 48
emuaum 48
C:-Section 40
emusum 40
D:-Section 50
emuaum 50
Correct Answer:- Option-B
Question29:-The following weights and measures shall be verified by GATC except
691608 ©IPJOYM B @OSYSGo GATC aI@leweowlgj0al@soe.
A:-Dispensing pump
alomymmdles’ aiml
B:-Weigh bridge
QW Enfloyzmy’
C:-Vertical storage tank
6QIdgler@d eqyocosd sos’
D:-None of these
OO0 DG
Correct Answer:- Option-D
Question30:-The provision of the Legal Metrology Act 2009 shall not be applied to any weights and measures
20096e! el enesogs] Mo floal i BepOwil00 @SN ENOWEBHAG).
A:-Manufactured exclusively for export
a@gmmﬂ@“ 20@20Q) (lBani 5@
B:-Used for scientific investigation or for research
MYl EREMIHEMNOTIEMO NDEUHUTNOBIEMNI DalEIUIEBMEY
C:-Used in any factory exclusively engaged in the manufacture of any arms, ammunition or both, for the use of the Armed forces of the Union
QEM@MBOHO MIQW ETVMQHS PaleINTTIMIV age®@lej ERHRMERUD, HAISIAGT EPRERIBITE Al EMGe MAABM@IT 2O@e FBOSIAlEBMe ago®®sleje 00l
OaleoUIlEBmM®
D:-All of these
DAUOWRIe
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Correct Answer:- Option-D
Question31:-The Kerala Legal Metrology (Enforcement) Rules 2012 is framed under which Section of the Legal Metrology Act 20097
ea08 ellndd eassogs (apmeanosminamd) gudm 2012 @aledlldesma el sacsogel @og 2009m@e0 ogo ervermBeo @lslenem?
A:-Section 52
emusum 52
B:-Section 53
emuaum 53
C:-Section 54
emusum 54
D:-Section 55
emuaum 55
Correct Answer:- Option-B
Question32:-The Sections which empowers LMO to seize and forfeit a non standard weight or measure are respectively
dlenedgoom @Eneas @Een allsle 4igEnomte Mayealsemome LMO-o@ @oule:000ai58mm oruesmeud @Ino@ae
A:-Section 15 and 16
emuaum 15 0, 16 oo
B:-Section 16 and 17
omueumd 16 0. 17 oo
C:-Section 14 and 15
emusum 14 0o 15 oo
D:-Section 14 and 16
omueamd 14 9. 16 oo
Correct Answer:- Option-A
Question33:-Which of the following instrument is used in the measurement of Petroleum and Petroleum products and other oils?
6a16S0gWo, alESIFIWo P@aIMEBUB, AF agERBUB afTIAIRES EESAT ERSEOM HMlnOQYM LalBEEMOBI GO DaleOUlERM®Y?
A:-Woven metallic tape
e eagoals; esqf
B:-Steel tape
@ esaf
C:-Dip tape
Wla] esaf
D:-None of these
OO0 DG
Correct Answer:- Option-C
Question34:-The maximum capacity of a counter machine shall not exceed
8@ BDMRA 62O alEaoIW] cudaHl &l aloslgy.
A:-30 kg
30 &l Wwoe
B:-50 kg
50 &l
C:-25 kg
25 &).Wwoe
D:-10 kg
10 &).woo
Correct Answer:- Option-B
Question35:-The initial error of an electronic weighing machine of maximum capacity 10 kg and verification scale interval of 1 g is calculated for a
test load equal to
alem0aiwfl 10 @leainwoe 6wl 1 o oadladledmnud oIl mseaism. 988 B MeiEaTIE HAlU) ORBOO @R aludsy D010 8@ O caloulmoal
BHEMEN LB,
A:-10 kg
10 &l.Wwoe
B:-1 kg
1 8)l.woo
C:-10g
10 woo
D:-1g
1 woo
Correct Answer:- Option-C
Question36:-Sale of Liquefied Petroleum Gas is effected by
BAllg® 6aleSIEo AOBEWIMEO AflTdaim a@@MMVE] sy msBmM®?
A:-Weight
[chlcly
B:-Volume
caoglo
C:-Weight/volume
@0®o/ cuoglwo
D:-None of these
DOIMo 0B}
Correct Answer:- Option-A
Question37:-Which of the following weights or measure does not comes under the definition of "protection" as per Legal Metrology Act, 2009?
ellnad eacsoged @rg, 2009 @@ "Meeem." agmMainen mldaanamiad moee aoQMAURIT R’ BEnend @60 AIElg)?
A:-Thermometer
o®Adca0dlgd
B:-Weighing machine
oIy Hacelld
C:-Glucometer
ggrzmoaﬂg(ﬁ
D:-Sphygmomanometer
mflewromoemodiod
Correct Answer:- Option-C
Question38:-Subject to the satisfactory functioning of the GATC the approval certificate may renewed for a period not exceeding
GATC wes Qo ®020® Jadommoolay’ allewwaswi, sallooom eoei@galealss @oule:0e MUASladlerg aj@esileedo.
A:-3 years
3 Q@
B:-2 years
2 Qi@
C:-5 years
5 Qidauo
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D:-10 years
10 cBaso
Correct Answer:- Option-C
Question39:-Base unit of electric current is
£OAUBYD @AU0NOTIMBEO @SIM0m Qg
A:-Ampere
@ymiwad
B:-Volt
cQuouds’
C:-Ohm
6300
D:-Tesla
G)S(T}g
Correct Answer:- Option-A
Question40:-The error of a non automatic weighting instrument is calculated using the equation
8@ 6MIM 3965020¢1ey HAWIFlUY DaleEEMOTIMBHO allteds GIOLAJON TVAE: ale@IUla] GEMENIEBME.
A:-"E=1+(1)/(2)" e-AL-L
“E=I1+(1)/(2)" e-AL-L
B:-"E=I-(1)/(2)" e + AL - L
“E=I-(1)/(2)" e + AL-L
C:-"E=1+(1)/(2) e + AL- L
“E=I1+(1)/(2)" e + AL- L
D:-"E=I-(1)/(2)" e+ AL+ L
CE=1-(1)/(2) e+ AL+ L
Correct Answer:- Option-A
Question41:-Every Reference standard weights shall be verified and certified at an interval not exceeding
ag)g§d 0anommy quomdeanday sum@“g:e,go &SOOD DSEUSQI@D mriﬂcuaawﬂ_%o%ﬂcse@@o MUIHHOISTOBHGQo 6).21Q0.
A:-2 years
2 Qi@
B:-3 years
3 Qo
C:-1 years
1 aidasto
D:-6 months
6 moaue
Correct Answer:- Option-B
Question42:-New legislation came into force on 01/07/2024, which replaced The Indian Evidence Act is
DB agallawday @relay alseacw 01/07/2024 of mlaial@d aiom ool dloae
A:-BNS
6nflagiBagy’
B:-BSA
enilag)ring)
C:-BNSS
6Nflag)Bag)riagany’
D:-None of these
DO@ITo Y
Correct Answer:- Option-B
Question43:-Which of the following is a type of beam scale?
DTajoQMARIEE «B@oenY 8@ ®o nlle HTYIGR?
A:-Dutch end
W.aj ag)aBauy’
B:-Swan neck
UM OME
C:-Both (1) and (2)
(1) 2 (2) oo
D:-None of these
OOHMIMe DG
Correct Answer:- Option-C
Question44:-Which of the following descriptive markings is not necessary to be shown near the display of the weighing machine?
BH QE@OIMBOO Wlemyalg mudlale GIOLaJOQYM aB® AlAIEEMICNE: GRSWIBERUY GosMleEeaig)?
A:-Maximum capacity
alE20QIW] euoaHl
B:-Model approval mark
CROW@S @R.UTBHIE @RSWIS.
C:-Minimum capacity
S0600 CUOH
D:-Accuracy class
SO GOTY
Correct Answer:- Option-B
Question45:-Auxiliary indicating devices are fitted with instruments of
VNI (MY ald Dald>EEMEBRSIT QaldEeMEIBUD caisla]laldlesme
A:-Class Il
ggoay |1
B:-Class IlI
ggoany 111
C:-Class IV
ggoav IV
D:-All of these
DAUOWLRIe
Correct Answer:- Option-A
Question46:-Maximum permissible error on verification or on reverification of a non-automatic weighing machine is calculated using the parameters
8@ 6MIM-63065020¢d18; OAIRSUY HRllBeO Muddle:EeMOTIER ajMdadlewowmaiean ERMAGMIVRID aleaNIW] aflted: BEMEILRMTY al0@IAIQQHUB Qale@ouilajosms.
A:-Verification scale interval
mudldleeem emyicd pseug
B:-Accuracy class
HO) LTV
C:-Test loads
OSTY 6RIWSU3
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D:-All of these
fasloTolu=Tiels
Correct Answer:- Option-D
Question47:-A 30 kg electronic weighing machine with e 5 g is tested with 10 kg weight during inspection. The maximum permissible error may be
up to
€5 g 88 30 &l.wWoe RIS Ol Ol adlewwowmelcd 10 @l @S aidlewouwlesme. @RMAIBMIWAI® MW allvoss QUOE @RYH:Jo.

A:-+5¢g

Correct Answer:- Option-B
Question48:-The minimum capacity of a special accuracy class non automatic machine in term of verification scale interval is
udl@lsesm eI DSEASReS @RSIMOIMOTIG BB @EMiH HOKD GOTY MM 665020¢16; EAMMOO aGQQle 06T GUoa
A:-10 e
10e
B:-50 e
50e
C:-100 e
100 e
D:-20 e
20 e
Correct Answer:- Option-C
Question49:-The standard weights used for verification of an instrument shall not have an error greater than of the instrument for the
applied load.
8@ QalsEMOETIME0 mudldleeemamilmond] palewouileam qomdeanday Qmmﬂg&,gmﬂ (@JEOUIlg| RN DaldEEMOTIMOO aM@lemEud el aflltod ORI,
A:-1/3
1/3
B:-1/2
1/2
C:-1/6
1/6
D:-1/4
1/4
Correct Answer:- Option-A
Question50:-For a 60 kg non automatic weighing machine instrument, the load to be selected for eccentricity test is
50 &.Woe EMoN B3065000g18s EARIeUY BRI @aﬂﬁgamoﬂdm‘. agogRSiniigl osqilmol clesstmgesmen: el s’
A:-20 kg
20 &).@we
B:-40 kg
40 &).Woo
C:-10 kg
10 &).woo
D:-60 kg
60 &.Woo
Correct Answer:- Option-A
Question51:-The Sl unit of acceleration is
@gleeoamen S| ey areny

A:-m/s
m/s
B:-kg m/s
kg m/s
C:-m/*s"2"
m/s"2’
D:-"m~3°
‘mA3

Correct Answer:- Option-C
Question52:-The measuring instrument used for the land measurement is
@2 @R8I DalCWIUIERIM @RSEBAN DaldH@6Mo
A:-surveying chain
aqudeaIflety ealflad
B:-woven metallic tape
eI eagoals; esaf
C:-steel tape
Tl esaf
D:-dip tape
Wla] esaf
Correct Answer:- Option-A
Question53:-The range of Reference standard weights is
0anOMMY’ qRomdeawdauy ammfg@;gs)s el
A:-10,5,2,1,1
10,5,2,1,1
B:-5,2,2,1
52,21
C:-2,2,1
2,2,1
D:-20,10,5,2,2,1
20,10,5,2,2,1
Correct Answer:- Option-B
Question54:-Dynamometer is used for the calibration of
Moo BoeleEnumonl semIeaddiod palcwoullesme.
A:-Vehicle tank
QI0aOM SO8’
B:-Vertical storage tank
6Idglep@d eqyocosd soss’
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C:-Flow meter
Gago dllgd
D:-CNG dispenser
CNG adfloaymavd
Correct Answer:- Option-B
Question55:-All references, secondary and working standards of mass and length shall be fabricated by
aflsmuasiteoge @seolBenn afgl Oenomayess, Blolwaj adomMm Mleieaj @2l o0 @lEs0.
A:-Govt. of India Mint, Mumbai
wadamg Goad eamy dlmd, Goeesn
B:-National Physical Laboratory, New Delhi
MIHEM@D adlrilen®d eleenioosal, mé(mmﬁnrﬂ
C:-Indian Institute of Legal Metrology, Ranchi
[aloNNe) @(ﬁr&;’lg&g‘ 80a0 eln@d eacsoged, ool
D:-None of these
OOHMIMe e
Correct Answer:- Option-A
Question56:-Which of the following expression is applicable for an auxiliary indicating device?
BB TVaDO® (MYalds DalGBEEMOBIT GIOLAJOQYM BB alB)EWONAEIT ERIOWEhe?
A-d<e<10d

d<e<10d
B:-d =e>10d
d=e>10d
C-d>e>10d
d>e>10d
Di-d<e=10d
d<e=10d

Correct Answer:- Option-A
Question57:-The International form of Indian numerals are represented on base

DIMD ERMEEESS ERMAERWIV Galo @RSIMN0ME0EIIsT (amlwle:@lesma.
Ai-e
e
B:-5
5
C:-10
10
D:-2
2

Correct Answer:- Option-C
Question58:-As per the Kerala LM (Enforcement) Rules 2012, honey shall be sold by
ed08 LM (agmeanosmieoamo) Quamy 2012 q)@oe., emad @RIV Al@Enemo.
A:-Weight
[GielelY
B:-Volume
cagloe
C:-Both (1) and (2)
(1) 20 (2) g0
D:-None of these
OO0 DR
Correct Answer:- Option-A
Question59:-Which of the following section deals with non-compoundable offences?
GBOIMUDETEENIUB BOGIITID BHQRDITBUS HOBHIOY £.21QaNOY Ml joQM OTMEUREEI ag@o6m?

A:-40
40

B:-48
48

C:-46
46

D:-42
42

Correct Answer:- Option-B
Question60:-Find the incorrect match
6)@(30(9) @O0 HOTRIDE:
A:-Milk - Volume
ald@ - el
B:-Curd - Volume
0600O - CIEIo
C:-Diesel - Volume
Wl - el
D:-Paint - Volume
OO - ecaoglwo
Correct Answer:- Option-B
Question61:-'MMQ' of a dispensing pump does not implies that
8@ adlomymdades’ aimiladeo 'MMQ' agam ayaflaflesariey.
A:-The quantity below which the measurement may not be accurate
@REAl §ORLOCOTIN CMIeYQSs Sl
B:-The quantity above which the measurement shall be accurate
@8l HOOQYSI®IVIClEBMTIMBO0 Jeglass @osal
C:-The maximum quantity that can be delivered
owelaid ©.210m &l aleadaiw] @psal
D:-None of these
OG0 0B}
Correct Answer:- Option-C
Question62:-Discrimination test for a non-automatic weighing instrument shall be performed at a load equal to
G 6MIM-63065020¢1e; HAUDIUY Dald:EEMOTIMINES Alleaialm al@IERIWM MIOPOQYM @MY DL GRIOWIT MSTMEM..
A:-Maximum capacity
alE20QIW] euoadl
B:-Minimum capacity
B0600 GUoAH]
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C:-Half of maximum capacity
ale20QIW] CWHQOS ald:ol

D:-All of these
2sleToNJT

Correct Answer:- Option-D
Question63:-An LPG delivery vehicle shall be kept with a weighing machine of
a@ LPG ecawelaid] ainanme 288 6Q1ft) 6B DaleIUilyf MystlensmMo.

A:-Maximum capacity 20 kg and verification scale interval 5 g
a1e200iu] 60oadll 20 &. W9, Mudldleeem eyl mseaig 5 Woe

B:-Maximum capacity 30 kg and verification scale interval 5 g
a1e200iu] 6uoadll 30 &. W, Mudldle:eem eyl mseaig 5 Woe

C:-Maximum capacity 50 kg and verification scale interval 10 g
a1e200iu] 60oadll 50 &)W, mudldleeem eyl mseaig 10 W

D:-Maximum capacity 60 kg and verification scale interval 10 g
a1e200iuW] uoadll 60 &)W, mudldleeem eaywiad mseaig 10 W

Correct Answer:- Option-C

http://192.168.1.6/dept/modules/marklist/answe...

Question64:-A non-automated weighing instrument with maximum capacity 1 tonne and above can be verified by

ale200iuw] 6uoadll 1 semoe @ROIM @3mARSs B BIE506AQMY @REOOD EAIDSlUY Dal®:06mMe
A:-Substitution method
rrusrﬂr;};ﬁ%nyqa Aol
B:-Strapping method
moaflewy @lail
C:-Both (1) and (2)
(1) 20 (2) 0
D:-None of these
DO B
Correct Answer:- Option-A

@ alBleuooulenomd @lqgo.

Question65:-As per the Legal Metrology Act, 2009, the maximum fine for use of unverified weight or measure is
el eacsoss] @og, 2009 @MUl ElEIWIEITN BEHER ERBEAY Palt@IUlERMGIMES alenoauwl afle @O

A:-1,000
1,000
B:-2,000
2,000
C:-5,000
5,000
D:-10,000
10,000
Correct Answer:- Option-D

Question66:-Which of the following test is performed for verification of taxi meter?

sogy dlgdlmeo audldleeemamsimowl eomlajoqm msr%@,gﬂ(ﬁﬂ AB@06m MSELAN®?
A:-Endurance test
ag)BROMMY’ OSMY’
B:-Discrimination test
aflearaim a@lew@owm
C:-Static test
aogles esmy’
D:-Fifthwheel test
adlag all@d esqy
Correct Answer:- Option-D
Question67:-mpe for a 1 kg bullion weight during verification is
oa@ladlesmaum maoon 1 elean mysslom eEMIM agoalsd @rem’
A:-10 mg
10 dligflwoe
B:-100 mg
100 dlgilwo.
C:-50 mg
50 dgfwo.
D:-5 mg
5 dlgflwoe
Correct Answer:- Option-C
Question68:-Schedule VIII of the Kerala LM (Enforcement) rules 2012 refers to
ed08 LM (ag@eanosmieams) Qudmy 2012meo SaOLYEd VI agalloflenmaoy
A:-Certificate of verification of weights and measurement
BEHYo @RS al@leUeIWlgiBe0 MASladleng’
B:-Fee for stamping weights and measures
BEHQYo @OSQYo TRIMI smugm@'lnagg adlny’
C:-Dealer license for weights and measures
BHOTIMe @RSYSUWBRPss Wlrid eeairumdmy
D:-None of these
DOIMMo 08
Correct Answer:- Option-A

Question69:-Permissible error for 5 kg reference standard, secondary standard, working standard and commercial bullion weights are respectively
5 &)W 0anom@ay qRomewday, emugnemnol quondeanda, aideslul quomeandn, »adauym msslom eadiy agamlay’ ErmABMIVEID allves: WNIGR.

A:-7.5 mg, 50 mg, 100 mg, 300 mg
7.5 mg, 50 mg, 100 mg, 300 mg

B:-7.5 mg, 25 mg, 75 mg, 250 mg
7.5 mg, 25 mg, 75 mg, 250 mg

C:-5mg, 50 mg, 500 ml, 5 g
5 mg, 50 mg, 500 ml, 5g

D:-10 mg, 25 mg, 100 mg, 250 mg
10 mg, 25 mg, 100 mg, 250 mg

Correct Answer:- Option-B
Question70:-The highest denomination of carat weight is
#00¢ BEATIMBO0 aBQaje @AM gele

A:-500 ¢
500 c

B:-5000 c
5000 c
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Correct Answer:- Option-A
Question71:-The International prototype of kilogram is casted with
aIcWIUI]56em &16aIWIEIMEO ERIMIEIY GJESIOeSA] @00y 6.a1glclesmay.
A:-Platinum-iridium alloy
qoglme-gndlal@e @rea0)
B:-Copper-tin alloy
60 B3-Slod @rea0w
C:-Platinum-copper alloy
OGIMo-EH0a|@ @REIW
D:-Copper-iridium alloy
€H0q3-enclolwo @REaw
Correct Answer:- Option-A
Question72:-Fees payable for verification and stamping of 30 kg class Il electronic weighing machine is
Rs. 335. This is mentioned in
30 sleanwoo gomy I meegosmls; oaeluy aclldeo mddeesmanime. quomiluilame. @esegen adlay 335 @al. @) agailane aleoadud sldlesma?
A:-Sec. VIII of the Kerala LM (Enforcement) rules 2012
EHEE a@aglo (agmdeanosmieams) guday, 2012 @eo emuesad VIII
B:-Sec. XI of the Kerala LM (Enforcement) rules 2012
EHEE a@aglo (agMennosainnmad) Quday, 2012 meo equesad IX
C:-Sec. X of the Kerala LM (Enforcement) rules 2012
EHEE a@aflo (agmeanosmioams) guday, 2012 @eo emuenm X
D:-Sec. IX of the Kerala LM (Enforcement) rules 2012
EHEE af@aglo (agmennssainnmad) Quday, 2012 meo equesad IX
Correct Answer:- Option-C
Question73:-Nominal size of water meters shall be the following
=201 dlgQ®ees MonaE2O® ABjaje OMloQM@IWEIEEMe
A:-15 mm, 20 mm, 25 mm, 40 mm, 50 mm
15 mm, 20 mm, 25 mm, 40 mm, 50 mm
B:-10 mm, 15 mm, 20 mm, 30 mm, 50 mm
10 mm, 15 mm, 20 mm, 30 mm, 50 mm
C:-15 mm, 20 mm, 25 mm, 30 mm, 50 mm
15 mm, 20 mm, 25 mm, 30 mm, 50 mm
D:-10 mm, 20 mm, 30 mm, 40 mm, 50 mm
10 mm, 20 mm, 30 mm, 40 mm, 50 mm
Correct Answer:- Option-A
Question74:-As per rule of the Legal Metrology (Packaged Commodities) Rules 2011, no retail dealer, or other person including
manufacturer, packer, importer and wholesale dealer shall make any sale of any commodity in packed form at a price exceeding the retail sale price
there of
el eacsos (aloesnesaly a:rzmamﬂg’lm)“) Quday 2011ees aigo @RMMLALY), 8@ dlogald avleicnd @PegEsId MIdERI®IAT, aldrd, LOMAGIEIEM, HATBAIAI
leid agilaimudeesQses ag Aetileud ageEla alees aldg) 6alQ @GO algio alladam alawicd eago@ alag s,
A:-18(2)
18(2)
B:-18(1)
18(1)

Correct Answer:- Option-A
Question75:-Which of the following packages is mandatory to declare unit sale price of the commodity in addition to the maximum retail price?
aleadiW] 2flgjo all@ajm afleig) ajoea aleesi@eo Qemlg alladam aflel @eudalenond omlaom aloeHBHEI G@ET aldeniruwlme?
A:-LPG cylinder of 14.2 kg
14.2 sleainwoo LPG ailellered
B:-1 kg coconut oil package
1 sleen Qg qlen alemel
C:-250 g honey package
250 ¥ e anems
D:-75 kg rice package
75 @lecn @Al aloeme’
Correct Answer:- Option-C
Question76:-"Sale" is in effect between two persons if transfer of weight or measure or other goods is for the following except
8106 @IOPajOQIMAIY CAIAMTE RIEE20 @RSENI AF MIWMEBREEI EOBGAIGo 6alPEnFHWISEMEBIM 6N AlEDle:daslsl@d " allcdalm” @omieoDIEd Qid..
A:-Cash
aléMo
B:-Mortgage
ecaodsewned
C:-Deferred payment
20G1601] GalOQPMT
D:-Payments by instalments
@AM S alemasQd
Correct Answer:- Option-B
Question77:-A non-automatic weighing machine of maximum capacity 30 kg with verification scale interval 2 g falls under
audldleesm eaywicd mseag 2 @Woe 2a8 30 @leenWoe alemoIw] CAIQESs B EMoMB-8065020¢le OAIuY Oaald @ DUBESM.
A:-Special accuracy class
QCOYE BHON GO
B:-High accuracy class
2ABM HOK® GHomy’
C:-Medium accuracy class
douile O gomy
D:-Ordinary accuracy class
TLIWOPEM DY FFIMY
Correct Answer:- Option-B
Question78:-Liquor measures of hand operated type are of the following denominations
00806 (AUBOTaesm @eovlags a6y ERE®U3 mlajo@m avlemodlemaumicd ealgaiosm’
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A:-30 ml, 50 ml, 60 ml
30 ml, 50 ml, 60 ml
B:-30 ml, 60 ml, 90 ml
30 ml, 60 ml, 90 ml
C:-30 ml, 60 ml, 100 ml
30 ml, 60 ml, 100 ml
D:-30 ml, 50 ml, 90 ml
30 ml, 50 ml, 90 ml
Correct Answer:- Option-C
Question79:-Penalty for sale of weight or measure without license is mentioned in which of the following sections?
£ORITMIY DRe® BEHER @RSEN AlEBMTIMPES alld GIPLaJOQM ag@® HrVEUmMIRIEY lEBAUI gfl@lesam@?
A:-Section 46
emusum 46
B:-Section 45
emuaum 45
C:-Section 44
emusum 44
D:-Section 47
emuaum 47
Correct Answer:- Option-A
Question80:-(25+L/40) micrometer is the maximum permissible error of meter bar, where L is the nominal length in millimeter between
the two graduation marks, the error on which is being determined.
(25+L/40) ooe@odlgd aganoy Agd en10dlBe0 @RMAIBMIWAID aleacaiw] allvesos, males L agmay eae’ wosmiaum aodeasaudssisoiass dgfldigdlea moans@aow
666dal@06m, RO allves Mldspleneajgme.
A:-Reference standard
0aD0MMY’ qRoMdeawduy
B:-Secondary standard
emuEmawd quomeawday’
C:-Working standard
Qdssilowy quomeandan’
D:-Commercial
&DBaHY
Correct Answer:- Option-B
Question81:-Which of the following symbol represents medium accuracy class for non-automatic weighing instruments?
6M06r1B-63065020G185 ©ADSleY PaldemeaRUdases Haule GO GITIOM JOIMlWledlesm allame agmosm?

Al
|
B:-Il
1]
C:-lll
I
D:-IV
v
Correct Answer:- Option-C
Question82:-During calibration process of the vehicle tank, a mark shall be made on the to indicate the 'proof level'.
QI0aOM SoEsIMBe0 BoefleEnnum «@lowlos, '@énﬂ“ 62101’ Myailaflenomd @ 6303 @RSWIBo EOESEIRMIENY.
A:-Dip pipe
Wla] ©0alaf
B:-Dip stick
Wla] qyles
C:-Dip tape
Wlaf 6saf
D:-All of these
DAUOWRIe

Correct Answer:- Option-B
Question83:-Which of the following weighing result can be possible in a non-automatic weighing instrument of maximum capacity 1200 g and
verification scale interval 10 mg?
a1e2001W] @ajordidl 1200 ¥, mudidleesm emywicd eseaig 10 dgfwoe aparilaigss e cmoam-£065000dle; ey BRI Do oG BED aneimosy
TLIWYRIBMN®?
A:-1200.00 g
1200.00 woo
B:-1200.11 g
1200.11 oo
C:-1200.100 g
1200.100 woo
D:-All of these
DO
Correct Answer:- Option-A
Question84:-The clinical thermometers shall have a range from
flrleocd 6@ReagQB e al@dlw] penzoel@lemsmo.
A:-35°C to 42°C
35°C gow 42°C ase
B:-35°C to 43°C
35°C gow 43°C ave
C:-Both (1) and (2)
(1) 20 (2) oo
D:-None of these
DO@ITo 5]
Correct Answer:- Option-C
Question85:-Which of the following units can be used for a measurement?
DMlaj0QIMAIRIEE ag@ Qeilgoem 6@ EREeASA]MIV] Palc@ouilerom delge?
A:-Hertz
OanBSMY’
B:-Dioptre
Wwewoalnd
C:-Litre
efllod
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D:-All of these
fasloTolu=Tiels
Correct Answer:- Option-D
Question86:-The difference in verification fee for a non-automatic weighing instrument of class Il digital type of maximum capacity 20 kg for camp
verification and for insitu verification is
&M OQUGlaJIEEHMo @(ﬁq;;'k(z 6aBladlegnatme aieaoaiw] 20 @leanwo. cralqes goay Il awlElgm @me. emosmd-aoegonogle eaIRlou’’ @q&ﬁgamaﬁ(ﬂm}g@ oQ@ladlesnaum adaleal
QOO0
A:-225
225
B:-335
335
C:-85
85
D:-170
170
Correct Answer:- Option-C
Question87:-The non-flexible length measures of woven type shall be made from timber of
MY ®EETIRISS @PAlgHO® dilg. ERENEUB @sll@d amlamoeny’ mildadlesmoy
A:-teak
COEB)
B:-rosewood
OOV oy’
C:-boxwood
GenIogy Qo
D:-all of these
f2sleToLJT
Correct Answer:- Option-D
Question88:-Compounding fee prescribed for non-exhibition of certificate of verification of a weight or measure at the trade premises where it is
used is (in rupees)
8 BHOTIMBO0EI EREAIMBeE0co MudlEl®:esm Mudgladledg @RT RaE@IUTERM AP aldlMEED @EBaeoaidesmaay rrﬂummﬂaﬂggg €B0mMDeNElwY adlny’ (@aiil@d)
A:-2,000
2,000
B:-2,500
2,500
C:-1,000
1,000
D:-5,000
5,000
Correct Answer:- Option-C
Question89:-Verification fee prescribed for a conical capacity measure of capacity 5L (in rupees) is
5L @qppmildlges seommogolalaas 8@ eqpmid aegallsy dlunilalges aidlewowmo adlay (@)

A:-30
30

B:-20
20

C:-50
50

D:-45
45

Correct Answer:- Option-B
Question90:-For obliterating stamps, every LMO shall be provided with punches of suitable size of
RIS DepP@ERMIN, 80eeo LMO @se @RMBEVIRYAID QAURJOTRISS AleTYHHUD MTBH:6Mo
A:-8 pointed star
8 calowlBQes Mmex@o
B:-6 pointed star
6 calo@lBQes Mes@o
C:-5 pointed star
5 ealo@lBQes mex@o
D:-4 pointed star
4 eaoddQes meH@o
Correct Answer:- Option-A
Question91:-Fee for compounding of offences under the Act 2009 shall be specified in which of the following schedule of The Kerala Legal Metrology
(Enforcement) Rules 20127
@@y 2009 @e00gse &eOKEREes eomiaEy) admy 20126al eaog all® oaesoge (agdeanodmionads) QUMIMBEO laoman agoy Saiwysilensm QUSORICEETRD?
A:-Sec. Xl
emuaumd X|
B:-Sec. Xl
emoaum Xl
C:-Sec. X
omueum X
D:-Sec. VIl
emusaum VI
Correct Answer:- Option-B
Question92:-The verification fee to be collected for a 300 kg class Il electronic weighing machine at the premises of a manufacturer is (in rupees)
8@ dldmomonlideo adlmeom 300 eleanwoe gomy Il eaegoamle; oalewy oacia anesasene eai@ladleaanumd adloy (@)
A:-505
505
B:-335
335
C:-415
415
D:-830
830
Correct Answer:- Option-C
Question93:-For a non-flexible length measure of denomination 1 m, the error in excess and deficiency during verification is respectively
1 dlgd alemadlemaumogs emaem-eagglmiid g @rgalm, aidleveowmgiles allvoss @RWIBO0 $:00jk @OIG2o
A:-1 mm and 0.1 mm
1 mm g, 0.1 mm g
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B:-1 mm and 0.5 mm
1 mm g, 0.5 mm g
C:-0.5 mm and 0.5 mm
0.5 mMm 2. 0.5 mm oo
D:-deficiency is not allowed during verification
aldlewowmgles ol @rmasaiwag)
Correct Answer:- Option-B
Question94:-Sample size to be selected for a net content inspection lot size of 2500 package is
2500 anemelBec 6n0om. 98858 16l6IWMQIW] dleesmgesns muomilud arilaje
A:-50
50
B:-80
80
C:-100
100
D:-125
125
Correct Answer:- Option-B
Question95:-The section which describes the overriding power of the Act 2009
2009-6a dwacol@en Eealaesm @pwle:eeo™ alliElesm amoeumd
A:-Section 1
emuaum 1
B:-Section 2
emoaum 2
C:-Section 3
eaTuesmd 3
D:-Section 4
emuaum 4
Correct Answer:- Option-C
Question96:-The specifications of uniform of an LMO is prescribed in the Kerala LM (Enforcement) Rules 2012 in
a@ LMO qes gemleanodl@eo qualewaumdud eaeg LM (agadeacosminamd) guday 2012 @ MBequdlafldlename.
A:-Rule 20
Qud 20
B:-Rule 21
Qud 21
C:-Rule 22
Qud 22
D:-Rule 23
Qud 23
Correct Answer:- Option-B
Question97:-The fee for verification of a dispensing pump is Rs. 2,485. How much shall the dealer to remit as verification fee while performing insitu
verification (in rupees) is
8@ alommmiles’ aimnideo aidlewownges odmy @.2,485. ead-milg eaIdladleenaumd msgpemiowd eadlnde@mam admuow] wlaid @oseRime @& (@aIm) agE@w@osm?
A:-3,730
3,730
B:-1,245
1,245
C:-2,485
2,485
D:-4,970
4,970
Correct Answer:- Option-C
Question98:-The ration shop keeper supplied less rice to a subscriber than he paid for which of the following section of the LM Act 2009 can be
imposed against the shop keeper?
BONUMBEHSEIRM aleMo OB:IFOD BEIUBE BOAIM HBIFOM AleMOTIEMEOWD ©:04] @AW allmesme ea@@, LM @re 2009-ae0 DM OQMMN oGO QA0 HSEICOMTIO
22O HFQH?

A:-33
33

B:-31
31

C:-46
46

D:-30
30

Correct Answer:- Option-D
Question99:-The quarter of stamping represented by the letter "C" denotes the month of
"C" apm @R@EM. olmluleeesan qpomil.uildeo @odsd 20MVEO™ MYalafesmo.
A:-January, February, March
2001al, sunn@gmrtﬂ, 20@4]
B:-April, May, June
R, eaw), e
C:-July, August, September
266LI, BINTY, HMIaTQoIA
D:-October, November, December
®eoenIB, Mlsnd, AWlavosnId
Correct Answer:- Option-C

Question100:-There are sections for the Legal Metrology Act, 2009.
2009 eal eln@ sacsoss dloaoway QoSN
A:-56
56
B:-57
57
C:-58
58
D:-59
59

Correct Answer:- Option-B
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